: -13-2916 B9:21 From:PENNSBORD ATV 13846593276 To:138455833578 Page:1-51

BRIDGEPORT EQUIPMENT AND TOOL
1504 OAKHURST DRIVE
CHARLESTON, WV 25314
304-659-2917

DATE: SEPTEMBER 13, 2016

TO: WEST VIRGINIA PURCHASING DIVISION

SEALED BID:

BUYER: MISTY DELONG

SOLICITATION NUMBER: CRFQ 0803 DOT1700000005
BID OPENING DATE: 9/13/2016

BID OPENING TIME: 1:30 PM

FAX NUMBER: 304-558-3970

WSS 1 DgRgT
a Purchasing Division

PLEASE NOTE: NO ONLINE BID WAS SUBMITTED IN OASIS. PER MS. DELONG,
PURCHASING WAS NOT ACCEPTING ONLINE BIDS FOR THIS SOLICITATION.

RECEIVED TIME SEP. 13.  9:32AM PRINT TIME SEP. 13, 1:03PM



SEPr~13-2816 @3:21 From:PENNSBORO ATV 13848593276 To: 13045583970 Pase:2-51

RON GARDNER

RECEIVED TIME Str. 13 9:32AM PRINT TIME SEP. 13, 1:03PM



SEFP-13-2916 @3:21 From:PENNSBORD ATY 13p46593276 To!13845583974

BRIDGEPORT EQUIPMENT AND TOOL
1504 OAKHURST DRIVE
CHARLESTON, WV 25314
304-659-2917

DATE: SEPTEMBER 13, 2016

TO: WEST VIRGINIA PURCHASING DIVISION

SEALED BID:
BUYER: MISTY DELONG

SOLICITATION NUMBER: CRFQ 0803 DOT1700000005
BID OPENING DATE: 9/13/2016

BID OPENING TIME: 1:30 PM

FAX NUMBER: 304-588-3970

PLEASE NOTE: NO ONLINE BID WAS SUBMITTED IN OASIS. PER MS. DELONG
PURCHASING WAS NGT ACCEPTING ONLINE BIDS FOR THIS SOLICITATION.

!

RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP.13.  1:03PM

Pase:3-51



SEP-13-2B16 83:21 From:PENNSBORD ATU 13046593276 To: 13845583970 Pase:4-51

TGP, | Purchasing Divison State of West Virginia
| Post Office Box 50130 Request for Quotation

-3 5&" v:é 2019 Washington Straet East
457

==

Charlaston, WV 25305-0130 05 — Auto Supply

Proc Folder: 238409
Doc Description: Addendum 1 MOW MASTER MOWER OEM PARTS OR EQUAL
Proc Typs: Central Maste Agresment
Date isgued Sollchation Closes | Selicitation Na Version
2016-08-29 2016-00-13 CRFQ 0803 DOT1700000005 2
13:30:00 e .
BORECEMVINGLOGATION . - -z -~ 50 & =_ o =, = & & % TS Y T T T B
BID CLERK
DEPARTMENT OF ADMINISTRATION
PURCHASING DIVISICN
2019 WASHINGTON STE
CHARLESTON Wwv 25305
us
VENDOR " o~ ool oh G L= For i oaa o= B n Er T 5w L E LI Eg e L -
Veondor Namae, Address and Telephone Numbar:
BRIDGEFORT EQUIPMENT AND TOOL
1504 OAKHURST DRIVE
CHARLESTON. WV 25315
304-659-2917

FOR INFORMATION CONTACT THE BUYER

Misly Delong
(304) 558-8802
misty.m_delong@wv gov

&7 34-1800484 9/12/2016

Signature X g

| 2L K et e DATE
Al offers subjectlo all lerms and conefitions contained in this solicitation '
Page: 1

FORM I : WV-PRC-CRFQ-001

RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13.  1:03PM



SEP~-13-2016 B9:21 From:PENNSBORO ATV 13p46593276 To: 13045533970 Pase:5-51

Addendum 1 -
1) Replace the language in section 6.3 Delivery Payment / Risk of Loss with the following language -

"6.3 Delivery Payment / Risk of Loss® Standard order delivery shall be F.O.B, destination to the Agency's localion, Vendor shall include the cost of
the standard order delivery changes in it's bid pricing / discount and Is not permitted to charge the Agency separately for such defivary, The
Agency will pay delivery chargeson all emergency orders provided that Vendor invoices those dalivery cosls as a separate charge with the
orginal freight bill attached to the invoice.”

2) Extend bid opening from August 30, 2016 to September 13, 2016 at 1:30 PM, EST.

No olher changes made.

The West Virginia Purchasing Division is soliciting bids on behalf of West Virginia Departimem of Transportation, Division of Highways to establish
&n open-end oontract for Mow Master Mower OEM Pants or Equal.

VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA

AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER

No City Wwve8999 No City WV 99989

us us

Line Comm Ln Desc Qty Unit Issue Unlt Price Total Price
1 MOW OEM PARTS OR EQUAL 1.00000 EA

Comm Code Manufacturer Specification Modeal #

12140000

Extended Daseription ;

MOW MASTER MOWER OEM PARTS OR EQUAL

HYD. Flt TER ELEMENT
PART NUMBER: MM145

VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA

AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER

No City WV98990 No City WV 59099

us us

Line Comyn Ln Desc Qty Unit Issua Unit Price Total Prige
2 MOW OEM PARTS OR EQUAL 1.00000 EA

Comm Cedoe Manufacturer Spaciflcation Model #
40161500

Extended Description :

MOW MASTER MOWER OEM PARTS OR EQUAL

Page: 2

RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13, 1:03PM



SEP-13-2@16 99:21 From:PENNSBORO ATY 13846593276 To: 13845583970 Pase:6-51

HYD._FILTER BOWL
PART NUMBER: MM 146

VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA

AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER

No City wv83999 No City WV 80009

us us

Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
3 MOW OEM PARTS OR EQUAL 1.00000 EA

Comm Code Manufacturer Specification Model #

26101212

Extended Deseription :

MOW MASTER MOWER OEM PARTS OR EQUAL

SIDE MOUNT MOWER SPINDLE
PART NUMBER: MM153

VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA

AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER

No City Wvgs9g9 Ne City WV ggagg

us us

Line Comm Ln Degc Oty Unit issue Unit Price Total Price
4 MOW OEM PARTS OR EQUAL . 1.00000 EA

Comm Coda Manufaciurer Specification ﬁodal #

31171500

Extonded Daseription :
MOW MASTER MOWER OEM PARTS OR EGUAL

MOWER DECK BEARING CARRIER
PART NUMBER: MM053

Page: 3

RECEIVED TIME SEP.13.  9:32AM PRINT TIME SEP. 13, 1:03PM



SEP-13-2816 09:22 From:PENNSEORD ATV

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

No City Wveee98

us

13046553276

To: 13845583976

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

No City WV 993489

us

Line Comm Ln Desc

Qty

Unit lssua Unit Price Total Price

5 MOW CEM PARTS OR EQUAL

1.00000

EA

Manufacturer

Specification

Model #

Comm Code
31410000

Extended Description @
MOW MASTER MOWER CEM PARTS OR EQUAL

UPPER RING SPINDLE SEAL
PART NUMBER: MM162

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

Paae:7/51

No City Wv92899 No City WV 95899

Us us

Line Comm Ln Desc ty Unh Issue Unit Price +  Total Price
6 MOW OEM PARTS OR EQUAL 1.00600 EA

Comm Code Manufacturer Specification Modal #

3ii61719

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

BOOM MOWER SWIVEL ASSY
PART NUMBER: MMSW1

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

us us
Page: 4
RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13, 1:03PM



To:13045583970 Paee:Bs51

SEFP-13-2816 B9:22 From!PENNSBORDO ATV 13846593276
Line Comm Ln Desc Qty Unit Issue Unit Prige " Tolal Price
7 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Coda Manufacturer Specification Model #
27111823

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

MOWER CENTER RELIEF SECTION
PART NUMBER: MM017

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

STATE OF WEST VIRGINIA
-VARIOUS LOCATIONS AS INDICATED BY ORDER

No City wvas899 No City Wv 99999
us us

Line Comm Ln Desc Qty Unit Issue Unlt Price Total Price
8 MOW OEM PARTS OR EQUAL 1.00000 EA

Comm Code Manufacturer Specification Model #

27121600

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

BOOM MOWER SWING CYLINDER
FART NUMBER: MM33008

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

WV95999 No City

o City
us

us

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

WV 99099

Line Comm Ln Desc Qty Unit lssue

Unit Price Total Price

8 MOW CEM PARTS CR EQUAL 1.00000 EA

Specification

Modei #

Comm Coda Manufacturar

30171500

Extended Desenption :
MOW MASTER MOWER CEM PARTS OR EQUAL

BOOM MOWER GUARD DOOR
PART NUMBER: MM190

Page: 5

RECEIVED TIME SEP. 13, 9:32AM

PRINT TIME

SEP. 13, 1:03PM



SEP-13-201i6 #9:22 From!PENNSBORD ATV

To:13845583970

13B46593276

VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA
AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER
Ne City WV89999 No City Wv 99599
us us
Line Comm Ln Desc ) Qty Unit lssue Unit Price Total Price
10 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufacturer Specification Model #
32101543 '
Extended Description =

MOW MASTER MOWER OEM PARTS OR EQUAL

HYD FEED LINE PRESSURE GAUGE
PART NUMBER: MM&48

Pase:9s51

VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA
AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER
No City Wv89999 No City WV 99399
us us
Line Comm Ln Degc Qty Unit lssue Unit Prica Total Price
" MOW OEM PARTS OR EQUAL 1.00000 EA

Comm Code Manufacturer Specification Modal &

41111636

Extendad Description :

MOW MASTER MOWER QEM PARTS OR EQUAL

MAIN BOOM BYLINDER

PART NUMBER: MM34024

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

No City Wv99999 No City WV 0090¢
us us
Page: G

RECEIVED TIME SEP. 13,

9:32AM PRINT TIME SEP. 13 1:03PM



To: 138455835970 Page: 18751

SEP-13-2016 @9:22 From: PENNSBDRD ATV 13046593276
Line Comm Ln Desc Qty Unit lssue Unit Price “Total Price
12 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufacturer Specification Model #
26101304

Extanded Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

HYD DECK MOTOR
PART NUMBER: MM055-O

VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA
AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER
No City WV 80959 No City wv 00899
us us
Line Comm Ln Desec Qty Unit Issue Unit Prica Total Price
13 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Codae Manufacturer Epecification Model #
25172609
Extended Description :
MOW MASTER MOWER QEM PARTS OR EQUAL
DECK GUARD FLAP
PART NUMBER: MM193
VARIOUS AGENCY LOCATIONS STATE QF WEST VIRGINIA
AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED B8Y ORDER
No City Wvge99s No City WV 09999
us us
Line Comm Ln Dese Qty Unit Issue Unit Price Total Prica
14 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufacturer Epacification Modal #
31151900
Extended Deseription :
MOW MASTER MOWER OEM PARTS OR EQUAL
DECK FLAP RETAINING STRAP
PART NUMBER: MM189
Page: 7

RECEIVED TIME

SEP. 13.

9:32AM PRINT TIME SEP.13. 1:04PM



Pase:11-51

13046593276 To: 13845583578

SEP-13-2016 B39:22 From:PENNSBORO ATV

VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA
AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED B8Y ORDER

No City Wvg9999 No City WV 99909

us us

Llne Comm En Dese Qty Unit lssue Unit Price Total Price
15 MOW OEM PARTS OR EQUAL 1.00000 EA

Comm Coda Manufacturer Specification Model #

311518600

[Extended Description :
MOW MASTER MOWER OEM PARTS OR EGUAL

DECK COUPLING CHAIN:
PART NUMBER: MM057

Ling
1

Technical Questions Due 2016-08-10

Page: A

RECEIVED TIME SEP.13.  9:32AM PRINT TIME SEP. 13, 1:04PM



SEP-13-2016 B3:22 From:PENNSBORO ATU 13946593276 To: 13945583970

SOLICITATION NUMBER: CRFQ DOT1700000005
Addendum Number: 1

Paese:12-51

The purpose of this addendum is to modify the solicitation identified as
(“Solicitation™) to reflect the change(s) identified and described below.

Applicable Addendum Category:
ly'] Modify bid opening date and time
[¢') Medify specifications of product or service being sought
[ | Attachment of vendor questions and responses
[ | Attachment of pre-bid sign-in sheet
[ | Correction of error

[ | Other

Description of Modification to Solicitation:
1) Replace the language in section 6.3 Delivery Payment / Risk of Logs with the attached language.

2) Extend bid opening from August 30, 2016 to September 13, 2016 at 1:30 PM, EST.

No other changes made.

Additional Documentation: Documentation related to this Addendum (if any) has been
included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Coaditions:

1. All provisions of the Solicitation and other addenda not modified herein shall remain in
full force and effect.

2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by
completing an Addendum Acknowledgment, a copy of which is included herewith.

Failure to acknowledge addenda may result in bid disqualification. The addendum
acknowledgement should be submitted with the bid to expedite document processing.

Revized 6/872012

RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13. 1:04PM



SEP-13-2@16 B9:22 From:PENNSBORO ATV 13846593276 To: 136845583970 Pase:13-51

ATTACHMENT A

Revised 6/6/2012

RECEIVED TIME SEP. 13.  9:32AM PRINT TIME SEP. 3. 1:04PM



SEFP-13-2@16 B3:22 From:PENNSBORO ATV 13046593276 To: 13845583578 Pase:14-51

ADDENDUM
7017C002  poT1700000005
MOW MASTER MOWER QEM PARTS OR EQUAL

1. REPLACE SECTION 6.3 DELIVERY PAYMENT/RISK OF LOSS with the following terminology.

63 Delivery Payment/Risk of Loss: Standard order delivery shall be F.0.B. destination to the
Agency’s location. Vendor shail include the cost of standard order delivery charges in its bid
pricing/discount and is not permitted to charge the Agency separately for such delivery. The
Agency will pay delivery charges on all emergency orders provided that Vendor invoices
those delivery costs as a scparate charge with the original freight bill attached to the invoice.

RECEIVED TIME SEP. 13.  9:32AM PRINT TIME SEP. 13. 1:04PM



SEP-13-2016 89:23 From:PENNSBORD ATV 13846593276 To: 13045583978 Page:15-51

ADDENDUM ACKNOWLEDGEMENT FORM
SOLICITATION NO.; DOT1700000005

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this
addendum acknowledgment form. Check the box next to each addendum received and sign bejow.
Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: [ hereby acknowledge receipt of the following addenda and have made the
necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:

{Check the box next to each addendum received)

[{] Addendum No. 1 [ ] Addendum No. 6
f ] Addendum No, 2 [ ] Addendum No. 7
[ ] Addendum No. 3 [ ] Addendum No. 8
{ } Addendum No. 4 [ 1 Addendum No.9
[ ] Addendum No.5 [ 1 Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I
further understand that any verbal xepresentation made or assumed to be made during any oral
discussion held between Vendor's representatives and any state personnel is not binding. Only the
information issued in writing and added to the specifications by an official addendum is binding.

BRIDGEPORT EQUIPMENT AND TOOL

/7’/2;,4/ C,om%uéw/

Atfhorized Signature

9/12/2016
Date

NOTE: This addendum acknowledgement should be submitted with the bid 10 expedite document processing.
Revrsed 6/8/2012

RECEIVED TIME SEP. 13.  9:32AM PRINT TIME SEP. 13, 1:04PM



SEP-13-2016 @9:23 From:PENNSBORO ATV 13846593276

Al

To:13B45583974

Pase: 16751

% | Purchasing Divison

&% | 2019 Washington Street East
j| Post Office Box 50130

. £| Charleston, WV 26305-0130

State of West Virginia
Request for Quotation

05 — Auto Supply

Proc Folder: 238409
Doc Description: MOW MASTER MOWER OEM PARTS OR EQUAL
Proc Type: Central Master Agreement

Date Issued Solicitation Closes Solicitation No

ersion

2016-08-01 2016-09-01 CRFQ 0803 DOT1700000005

13:30:00

g . ;' o NF L.t T L L T e w L i AN I AN St ey g 1
BID:RECENING LOBIRHION: . .o, Jo s s i e e T T e

L

———

C LR e T
P Am R FERLT e
L AR

BID CLERK

DEPARTMENT OF ADMINISTRATION
PURCHASING DIVISION

2019 WASHINGTON ST E
CHARLESTON

us

Wwv 25305

-

VENDOR, ol

R L NI LNV Nt Ll e F e Y I R R T

Vendor Name, Addrese and Telephone Number:

BRIDGEPORT EQUIPMENT AND TOOL
1504 OAKHURST DRIVE
CHARLESTON. WV 25315
304-659-2917

_|FOR INFORMATION CONTACT THE BUYER
Misty Delong

(304) 558-8802

misty.m.delohg @wv.gov

3'9"“‘"”;’ ;WWJW'FEM# SE-AGA0G8A

8/30/2016
DATE

All offers sub]7lo all lerms and-conditions contained In Lhis solicitation

Page:; 1

RECEIVED TIME SEP. 13, 9:32AM

PRINT TIME SEP. 13.

FORM ID | WV-PRC-CRFQ-001

1:04PM



SEF-13-26816 @9:23 From:PENNSBORG ATV 13846593276 Tot: 13945583970 Pase:17/51

N P e
g ow Cail . ; Wi O,
s o e e e S ey RS
s By ke d = A . H 4

[ApBrEoNALINFORMATON, ©. %

The Wesl Virginia Purchasing Division is soliciting bids on behalf of West Virginia Department of Tra i ivisi i
an open-end contract for Mow Master Mower OE%A Parts or Equal. i P ransportation, Division of Highways to estabiish

e T T
e

ANVBICE Tl . [y 72 L S T ST

R 6

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

No City Wv9Bsgg No City WV 99999
us us

Line Comin Ln Desc Qty Unlt tssire Unit Price Total Price
1 MOW OEM PARTS OR EQUAL 1.00000 EA

Comm Code Manufacturer Spocification Modef #

12140000

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

HYD. FILTER ELEMENT
PART NUMBER: MM145

INVOICE TR, ot o T T. T
VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA
AS INDICATED BY ORDER VARIQUS LOCATIONS AS INDICATED BY ORDER
No City Wv 89899 No City WV 95999
us us
Line Comm Ln Desc Qty Unlit Izsue Unit Price Total Price
2 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufacturer Specification Model #
40161500
Extended Descriptlon :
MOW MASTER MOWER OFEM PARTS OR EQUAL
HYD. FILTER BOwWL
PART NUMBER: MM 146
Page: 2
RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13, 1:04PM




SEP-13-2016 89:23 From:PENNSBORO ATY 1364€593276 To! 13845583970 Pase:1B-51
INVBIBETQ: v | & L o S T o e B T T T
STATE OF WEST VIRGINIA

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

VARIOUS LOCATIONS AS INDICATED BY ORDER

No City WVv50099 No City wv 99999
us us
Line Comm Lp Dese Qty Unit Issuc Unit Price Total Price
3 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufacturer SpecHication Model #
26101212
Extended Deserlption :
MOW MASTER MOWER OEM PARTS OR EQUAL
SIDE MOUNT MOWER SPINDLE
PART NUMBER: MM153
INVOISE Fo; * n LT T E T T PRI =T T P L
VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA
AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER
No City Wv 89993 No City WV 09999
us us
Line Comm Ln Desc Gty Unit Izsue Unit Price Tats! Price
4 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufacturer Specification Model #
31171500

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

MOWER DECK BEARING CARRIER
PART NUMBER; MM063

= Car

INVOICE T@: 1. P35 0 e

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

STATE OF WEST VIRGINIA
VARIQUS LOCATIONS AS INDICATED BY ORDER

No City WV 89999 No City WV 99989
us us
Page: 3

RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SE. 13, 1:04PM




To: 13845583970 Pase:19-51

SEP-13-2016 B9:23 From:PENNSBORO ATY 1384}6593276
Line ~ Comm Ln Desc Qty Unit Issue Unit Prige Total Price
5 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufacturer Specification Model #
31410000

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

UPPER RING SPINDLE SEAL
PART NUMBER: MM162 .

o T g L K ,_,:.-_- " 1_—_ ~__ I .SH'E'H"@ T ’L’ _ \M: T ,‘"

.......

VBB, L7 T e T T

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS A8 INDICATED BY ORDER

No City Wv89095 No City WV 09909
us us

Lina Comm Ln Desc Qty Unll Issue . Unit Price Total Price
] MOW OEM PARTS OR EQUAL 1.00600 EA

Comm Code Manufacturer Specification Model #

31161719

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

BOOM MOWER SWIVEL ASSY
PART NUMBER: MMSW1

INVOICE R, ™ T T R T e e T BRI LT T T s i m T
VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA
AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER
No City ¥Wve9899 No City WV 59999
us us
Line Comm Ln Desc Qty Unit Issue Unlt Price Total Prce
7 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufacturer Specification Model #
27111823
Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL
MOWER CENTER RELIEF SECTION
PART NUMBER: MM017
Page: 4
9:372AM PRINT TIME SEP. 13, 1:04PM

RECEIVED TIME SEP. 13,




Pase: 20751

SEP-13-2816 @9:23 From:PENNSBORDO ATU 1346593276 To: 13845583970
INVOIGE TG .o Ageid T L GRS T TR R N
VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA
AS INDICATED BY ORDER VARIOUE LOCATIONS AS INDICATED BY ORDER
No City Wwve9993 No City WV 99889
us us
Line Comm Ln Desc Qty Unit Issue Unit Price Total Price
8 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufagturer Speclfication Mode] #

27121600

Extended Description ;

MOW MASTER MOWER OEM PARTS OR EQUAL

BOOM MOWER SWING CYLINDER

PART NUMBER: MM33008

aeigE TS L T oA 1 SRy, 0 ] R
VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA

AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER
No City Wwv998g8 No City WV 99999
us us

Line Comm Ln Desc Qty Unit {esue Unit Price Total Price
8 MOW OEM PARTS OR EQUAL 1.00000 EA

Comm Code Manufacturer Spacification Model #

30171500

Extended Description :

MOW MASTER MOWER OEM PARTS OR EQUAL

BOOM MOWER GUARD DOOR

PART NUMBER: MM190

INVGICE F6r-, o] SRIETOL SRR T S g

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

RECEIVED TIME

No City WV 98599 No City WV 909599
us us
Page: §

SEP. 13 9:32AN PRINT TIME SEP. 13,  1:04PM




SEP-13-2@16 @3:23 From:PENNSBORD ATUV

13046593276 To: 13845583978 Pase:21-51

Line Comm Ln Desc

Qty

Unit lesue Unll Price Total Price

10 MOW OEM PARTS OR EQUAL

1.00000

EA

Comm Code Manufacturer

Speclfleation Mode{ #

32101543

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

HYD FEED LINE PRESSURE GAUGE
PART NUMBER: MM649

INVEIOE T L T T T

- LA TN s R e €

[ shipiTo -

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

No City W\V09099

us

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDIGATED BY ORDER

No City Wv 09599

Us

Line Comm Ln Desc

Quy

Unlt issue Unit Price Total Price

11 MOW DEM PARTS OR EQUAL

1.00000

EA

Comm Caode Manufacturer

Speclfication Mode! #

41111636

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

MAIN BOOM BYLINDER
PART NUMBER: MM34024

WROIGEFE:: -5 s oty e e

o LB &S T s R T T e

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

Nao City Wve0999

us

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

No City WV 00099

us

Line Comm Lh Desc

Qty

Unlt Iszue Unit Price Total Price

12 MOW OEM PARTS OR EQUAL

1.00000

EA

Comm Code Manufacturer

Specification Model #

26101304

Extended Deseription :
MOW MASTER MOWER OEM PARTS OR EQUAL

HYD DECK MOTOR
PART NUMBER: MM055-0

RECEIVED TIME SEP. 13,

9:324

Page: §

M PRINT TIME SEP. 13, 1:04PM




Page:22-51

SEP-13-2016 B9:24 Fromi:PENNSBOROC ATV 13646593276 To: 13045583970
I‘.tl": o m_‘&‘l . N T T _‘ _,;. P i T ’-stIP,Tbia_ E .";-‘ ) _‘-: . w -'.’
VARIOUS AGENCY LOCATIONS STATE OF WEST VIRGINIA
AS INDICATED BY ORDER VARIOUS LOCATIONS AS INDICATED BY ORDER
No City WV00909 No City WV 99999
us us
Line Comm Ln Dese Qty Unit lssue . Unit Price Total Price
13 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Cede Manufacturer Specification Model #
25172609

Extended Deseription ;
MOW MASTER MOWER CEM PARTS OR EQUAL

DECK GUARD FLAP
PART NUMBER:; MM 183

INNOETOLY .1 oo e SHr

VARIQUS AGENCY LOCATIONS
AS INDICATED BY ORDER

No City Wv0Bg89

us

STATE OF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

No City WV 99989

us

Line Comm Ln Desc Qey

Unit Issue Unit Price Total Price

14 MOW OEM PARTS OR EQUAL 1.00000

EA

Camm Code Manufacturer

Specification

Model #

31151800

Extended Description :
MOW MASTER MOWER OEM PARTS OR EQUAL

DECK FLAP RETAINING ETRAP
PART NUMBER: MM182

INYRICE T - oty 2 Vi

VARIOUS AGENCY LOCATIONS
AS INDICATED BY ORDER

STATE QF WEST VIRGINIA
VARIOUS LOCATIONS AS INDICATED BY ORDER

No City wveg8999 No City WV 59999
us us
Page: 7

RECEIVED TIME SEP. 13 9:324M PRINT TIME SEP. 13.  1:(4PM



To: 13845583579

FPase:23-51

SEP-13-2016 89:24 From:PENNSBORD ATV 13P465932T6
Line Comm Ln Desc Qty Unlt Issue Unit Price T Total Price
15 MOW OEM PARTS OR EQUAL 1.00000 EA
Comm Code Manufacturer Speclfication Model #
31151600
Extended Description :.
MOW MASTER MOWER OEM PARTS CR EQUAL
DECK COUPLING CHAIN:
PART NUMBER: MMD57
]':S'GH'EBﬂl:E,QFE?EH?):S{."'}:' e R g ““"f' ﬁﬁ_ At Tk N ..
Line Event Event Date
1 Technical Questions Due 2016-08-10
Page: 8
RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13, 1:04PM




SEP-13-291& B9:24 From:PENNSBORO ATU

13946593276

To: 13845583570

DOT1700000005

Document Phase
Draft

Document Description
MOW MASTER MOWER OEM PARTS OR
EQUAL

Page 8
of 9

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

RECEIVED TIME SEP. 13 9:32AM

PRINT TIME SEP. 13.

T 04PM

Page:24-/51



617438 INIL QIAI30AY

6

WYLE

€L 438 IWIL LINTHd

|

We?0

Exibit A

VENDOR: BRIDGEPORT EQYIPMENT AND TOOL - MOW MASTER MOWER OEM PARTS or EQUAL - Pricing Page

Discount Percentage®*

~

Markup Percentage**

-1.00% (Please enter a5 3 negative. Example discouat of $% should be ~3.0%)

0.00%

PRICE CATALOG DATE:

9/1/2016

Ibem
o,

BAQW MASTER
QOEM Part number

“Or Equal" Parts

Estimated Unit
Quantiey

Unit (For caleutation
pipgses)

{atzalog Untt Price

Unlts Provided for Catalog
Price

** Discountfviarkup® *
Percentags

Adjusted Unid Price

Item Total Cosk

Part Wo.
pAN 245

Description:
HYD, FILYER ELEMENT

Part o,

Dexcription:

1 - ELEMENT

18.50

1.00

-1.00%

18.32

$18.32

Part No.
MM 145

Drescription:
SKID RUFNNER

Part No,

Description:

1- SKID RUWNER

52.00

190

-1.00%

51.48

$51.49

Part Ne.
bl Lx]

Descripticn:
SIBEMOUNTMOMER

SPIADLE

Part o,

Qescriptmn:

1 - SPNDLE

BBD.OD

1.00

-1.00%

8720

$B71.20

Pars No.
MAMMOE3

Description:
WIAWER DECK BEARING

CARAPER

Part Mo,

Description:

1 - BEARING CARRIER

1,280.80

<1.00%

1,132.60

$1,188.00

Part Mo,
MNI162

Descriptica:
UPRER AIGIE IFINDLE

SFad

Part o,

Deseription:

1-5EAL

«1.00%

14.85

$14Bs

Part do,
DENISWY'L

Descripton:
EOOM MOWER SWIVERL

A55Y

Part No.

Drascriptian:

1- SWIVEL ASSY

116040

140

-1.00%

1,143.46

$1,148.40

Par1 Na.
ntviDa?

Description:
HPOWER CENTER HELIEF

SEFTERN

Part Mo.

DOegeripion:

1 - CENTER SECTHON

NOTVALID PART NUDEBER

CR OESCRIPTION.

LGD

-1.00%

Soop

Part o
MN3I003

Description:
BOGM MOVIER SInG

CYLEADER

Part o,

Deseriptinne:

1 - BOOM CYLINDER

280,00

100

-1.00%

70

277,20

Pagel of 2

68 91a2-£1-d35

S 2EESSHRET NlY O095SNNZd:Wwo«d &2

BLEEBSSHACT 0],

196k

16-52



ANIL GIATIOTY

FARER

6

WYCE

€1 43S INIL INT¥d

NdS0+1

Exhilbit A

Hem MOV WASTER N " £stimabed Unit Unit $har calculation Unies Provided for Catalog | **Oiscount/Markup* *
r 3 .
Mo. | OEM Part number Or Equal” Pasts Quantity ) Catalog Unit Price Price Parctntage Adjusted Uait Price Ttem Yaotal Cost
Part Mo, Fart No.
MM130
9 1 1-0COR s 220.00 1.400 <1.00% 21780 $217.8D
Dascription: Description;
EDUM MOWES GUARD
DOnAe.
Part No. Part Mo,
MNTE49
ip i 1- GAUGE $ 22.00 .00 <1.00% 2178 321.78
Description: Description:
HYD FEED LINE PRESSURKE
GALIGE
Part da, Part No.
Liva4624
11 ' 1 1 CyLINBER $ 480.60 14} -1.00% 47520 4$475.20
Descipfion: Description: .
M BOOM CYLENDER
Part o, Partin,
MMISS-OR
12 1 1- MOTOR $ 750.00 100 -1.4080 7450 $7¢2,50
Description: Descriptian:
HYD DECK MOTOR
Part Mo, Past No,
B33
bk} 1 1-FLAF 5 40.00 140 ~1.00% 19.50 $38,60
Description: Desrription:
DECK GUARD FLAP
Part No. Part o,
MM189
14 1 1-5TRAP 5 35.00 .00 -1.008% 34.6% $34.65
Description; Descriptinn:
OECK FLAP RETATNING
ATEAP
Part to. Part No.
FALTVEYS
15 1 1 - CHaIN $ 24,00 140 -1.00% 2376 $23.76
Description: Dasceiptian:
DECK QDUIPLEING CHAIN
Total Bid Cost $5,124.73

CONTRACT MANAGER:

TELEPHONE #PUN BER:

FAX NUMEER:

E-MAIL ADDRESS;

ZACHARY WAGGONER

740-373-RE0%

0-373-3895

ZWAGGON ER@BRING EPQRTEQUIP COp

Peps2 of 2

‘68 9182-£1-435

wod4q &2

NLY OMOESNNIA

52 2E6S8PBET

BLEEBSSPPET 0L

19604

16,92



SEF-13-2616 @S:24 From:PENNSBORO ATU 13846593276 To:13045583978 Page:27-51

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the
Contract Administrator and the initial point of contact for matters relating to this Contract.

ZACHARY WAGGONER =CORFORATE PARTS MANAGER

(Name, Title) 5, uapy waGCONER - CORPORATE PARTS MANAGER

(Printed Name and Title)

___ 1504 QAKHURST DRIVE. CHARLESTON. WV 25315
(Address)
304=-373~-6686 304=-373~-

(Phone Number) / (Fax Number)
zwaggoner@bridgeportequip.com

(email address)

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation
through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; that I understand
the requirements, terms and conditions, and other information contained herein; that this bid,
offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the
product or service proposed meets the mandatory requirements contained in the Solicitation for
that product or service, unless otherwise stated herein; that the Vendor accepts the terms and
conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this
bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute
and submit this bid, offer, or proposal, or any documents related thereto on vendor’s behalf; that
I am authorized to bind the vendor in a contractual relationship; and that to the best of my
knowledge, the vendor has properly registered with any State agency that may require
registration,

BRIDGEPQRT EQUIPMENT AND TOOL
{Company)

| iM RONALD A. GARDNER — SALES
uthorized Signature) (Representative Name, Title)

RONALD A. GARDNER - SALES
(Printed Name and Title of Authorized Representative)

B8/30/2016
(Date)
304-659-2917 304-659-3276
(Phone Number) (Fax Number)
Revised 05/04/2016

RECEIVED TIME SEP. 13 9:32AM PRINT TIME SEP. 13.  1:05PM



SEP-13-2016 B9:24 From:PENNSBORO ATU 13846553276 To: 13045583978 Page:28-51

REQUEST FOR QUOTATION
Mow Master Mower OEM Parts or Equal

SPECIFICATIONS

1. PURPOSE AND SCOPE: The West Virginia Purchasing Division is soliciting bids on
behalf of West Virginia Department of Transportation, Division of Highways to establish
an open-end contract for Mow Master Mower OEM Parts or Equal.

2. DEFINITIONS: The terms listed below shall have the meanings assigned to them
below. Additional definitions can be found in section 2 of the General Terms and

Conditions.

2.1 “Adjusted Unit Price” means the Unit Price either reduced by the Discount
Percentage or increased by the Markup Percentage.

2.2 “Attachment” or “Attachments” means an additional part or extension the can be
attached to a piece of equipment to make it perform a particular job.

2.3 “Catalog” means the current price list or sales catalog that includes Contract Item
or Contract Items that the Vendor can and will sell under this Contract.

2.4 “Catalog Unit Price” means the lowest price listed for a Contract Item in Vendors
current Catalog.

2.5 “Contract Item” or “Contract Items” means the list of items identified in Section
3.1 below and on the Pricing Pages.

2.6 “Discount Percentage” means the percentage discount that Vendor will apply to
all Agency purchases of Contract Itemn or Contract Items.

27 “OEM” or “Original Equipment Manufacturer” means the Manufacturer or
Manufacturers involved in the original assembly.

2.8 *“Or Equal” means after the sale by the “OEM”.

2.9 “Markup Percentage” means the percentage markup that Vendor will apply to all
Agency purchases of Contract Item or Contract Items.

2.10 “Pricing Pages” means the schedule of prices, estimated order quantity, and totals
contamned in wvOASIS or attached hereto as Exhibit A, and used to evaluate the

Solicitation responses.

2.11 “Solicitation” means the official notice of an opportunity to supply the State with
goods or services that is published by the Purchasing Division.

Revised 10/27/2014
RECEIVED TIME SEP. 13. 9:324M PRINT TIME SEP. 13. 1:05PM



SEP-13-2@16 B9:25 From:PENNSBORO ATV 13046593276 To:13045583970

REQUEST FOR QUOTATION
Mow Master Mowexr OEM Parts or Equal

Pase:29-51

2.12 “Total Bid Price” means the sum of the bid total column.

3. GENERAL REQUIREMENTS:

3.1 Contract Items and Mandatory Requirements: Vendor shall provide
Agency with the Contract Jtems listed below on an open-end and continuing
basis. Contract Items must meet or exceed the mandatory requirements as

shown below.
3.1.1 Mow Master Mower “OEM” Parts or Equal

3.1.1.1 Contract Items must be Mow Master Mower “OEM”
Parts or Equal.

3.1.1.2 Vendor must bid straight Mow Master Mower “OEM”
product line or straight “or equal” product line.

3.1.1.2.1 Vendor may submit multiple bids so long as
the two product lines are not represented in a
single bid.

3.1.1.2.2  Vendors bidding an “or Equal” product line
must be able to supply a comparable and
compatible contract item for each contract
item offered by the “OEM” Vendor.

3.1.1.3 If bidding an “or Equal” product line, Vendor must
provide written certification from the Manufacturer at bid
submission, that product line is completely compatible
and interchangeable with the “OEM” product line.

3.1.14 Ifbidding an “or Equal” product line with non “OEM™
part numbers, Vendor must provide a complete written
cross reference of their product line numbers as they
coincide with the “OEM?” product line numbers.

3.1.1.5 Ifbidding an “or Equal” product line, Vendor must be
able to supply a contract item for each “OEM” contract

item.

Revised 10/27/2014
RECEIVED TIME SEP. 13, G:372AM PRINT TIME SEP. 13.  1:05PM



SEP-13-2@16 83:25 From:PENNSBORD ATV

13846593276 To:13045583974

REQUEST FOR QUOTATION
Mow Master Mower OEM Parts or Equal

Pagse:30/51

3z

33

Revised 10/27/2014
RECEIVED TIME SEP. 13.

3.1.1.6  If bidding an “or Equal” product line, the Vendor must be
able to supply product warranty comparable with “OEM”

product line warranty.

3.1.1.7 This contract shall exclude the purchase of any
Attachment or Attachments that may be listed within the

manufacturer’s catalog.

3.1.1.8 Vendor shall furnish any consulting services which might
be needed in the proper installation of these parts at no
additional cost to the West Virginia Division of

Highways.

3.2.1.9  Concurrently with each shipment, Vendor shall forward a
proper and current material safety data sheet (“MSDS”)
on hazardous materials only, to the West Virginia
Division of Highways, Equipment Division, P O Box
610, Buckhamnon, West Virginia 26201_

Catalog Submission: Vendor must submit its Catalog prior to award of
this contract for evaluation purposes. Vendor shall also mail the Catalog
free of charge to any Agency desjring to use this contract. Copies of the
Catalog may be requested in an electronic format and should be provided in
that format if possible. Vendor’s Catalog will be used by Agencies to order
Contract Items under this Contract.

Vendor should identify ali items jisted on the Pricing Section by cixcling or
highlighting those iterus in its Catalog and earmarking or tabbing the pages
for those items, to assist in the evaluation and verification of the bids and
pricing. If any discrepancies exist between the Pricing Pages and the Unit
Price listed in the Catalog, the Unit Price shall prevail and the Pricing Pages
may be corrected by the Purchasing Division buyer for evaluation purposes.

Catalog Modification: The Purchasing Division may permit Vendor to
update its Catalog at each renewal dete. Determination of whether or not to
allow & Catalog update is at the sole discretion of the Purchasing Division.
Any request by Vendor to update its Catalog must include a detailed listing
of the following: (1) any Contract Items being removed, Discounted Unit
Price for those jteras, Agencies quantity usage of those items, and total spent
by the Agencies on those items; (2) any Coptract Items being added to the
Catalog and the Discounted Unit Price of those items; (3) all changes in the
Discounted Unit Price to Contract Itemns, estimated usage relating to items
that have changed in price, and the total impact of the price change on the

9:32AM PRINT TIME SEP. 13, 1:05PM



SEP-13-2016 89:25 From:PENNSBORD ATV 13846593276

To: 13045583374

REQUEST FOR QUOTATION
Mow Master Mower OEM Parts or Equal

Pase:31-51

32

33

3.1.1.6 Ifbidding an “or Equal” product line, the Vendor must be
able to supply product warranty comparable with “OEM?”
product line warranty.

3.1.1.7 This contract shall exclude the purchase of any
Attachment or Attachments that may be Jisted within the

manufacturer’s catalog.

3.1.1.8 Vendor shall fumish any consulting services which might
be needed in the proper installation of these parts at no
additional cost to the West Virginia Division of

Highways.

3.1.1.9 Concurrently with each shipment, Vendor shall forward a
proper and current material safety data sheet (“MSDS”)
on hazardous materials only, to the West Virginia
Division of Highways, Equipment Division, P O Box
610, Buckhannon, West Virginia 26201.

Catalog Submission: Vendor must submit its Catalog prior to award of
this contract for evaluation purposes. Vendor shail also mail the Catalog
free of charge to any Agency desiring to use this contract. Copies of the
Catalog may be requested in an electronic format and should be provided in
that format if possible. Vendor’s Catalog will be used by Agencies to order
Contract Items undex this Contract.

Vendor should identify all items listed on the Pricing Section by circling or
highlighting those items in its Catalog and earmarking or tabbing the pages
for those items, to assist in the evaluation and verification of the bids and
pricing. If any discrepancies exist between the Pricing Pages and the Unit
Price listed in the Catalog, the Unit Price shall prevail and the Pricing Pages
may be corrected by the Purchasing Division buyer for evaluation purposes.

Catalog Modification: The Purchasing Division may permit Vendor to
update its Catalog at each renewal date. Determination of whether or not to
allow a Catalog update is at the sole discretion of the Purchasing Division.
Any request by Vendor to update its Catalog must include a detailed listing
of the following: (1) any Contract Items being removed, Discounted Unit
Price for those items, Agencies quantity usage of those items, and total spent
by the Agencies on those items; (2) any Contract Items being added to the
Catalog and the Discounted Unit Price of those items; (3) all changes in the
Discounted Unit Price to Contract Items, estimated usage relating to items
that have changed in price, and the total impact of the price change on the

Revised 10/27/2014
RECEIVED TIME SEP. 13, §:32AM PRINT TIME SEP. 13, 1:05PM



SEP-13-2016 ©9:25 From:PENNSBORD ATY

13846533276 To:13845583374

REQUEST FOR QUOTATION
Mow Master Mower OEM Parts or Equal

Page: 3251

State; and (4) justification for updating its Catalog, The Purchasing
Division may waive the detailed listing requirements if it finds that doing so
is in the best interest of the State. Unless an updated catalog is approved,
the Contract Items available under this Contract and Unit Prices for those
iterns shall remain unchanged during the term of this Contract.

4. CONTRACT AWARD, PRICING PAGES, DISCOUNT/MARKUP
PERCENTAGE:

4.1 Contract Award: The Contract is intended to provide Agency with a

4.3

purchase price on all Contract Items. The Contract shall be awarded to the
Vendor that provides the Contract Iters meeting the required specifications
for the lowest overall total bid price as shown on the Pricing Pages.

4.2 Pricing Pages: Vendor shall complete the Pricing Pages by inserting

either a Discount Percentage or a Markup Percentage. Vendor shall bid
one percentage (mark-up or discount) to be applied to all contract items,
Multiple percentages will not be accepted. Vendor should insert the
Catalog Unit Price from Vendor’s current catalog for each of the items
listed. Vendor’s bidding an “or Equal” product line must reference their
part number for each of the “OEM” part numbers as they coincide on the
Pricing Pages. Vendor should complete the Pricing Pages in their entirety
as failure to do so may result in Vendor’s bids being disqualified.

The Pricing Pages contain a list of the Contract Items and estimated
purchase velwme. The estimated purchase volume for each item represents
the approximate volume of anticipated purchases only. No future use of the
Contract or any individual item is guaranteed or implied.

Vendor should clectronically enter the information into the Pricing Pages
through wvOASIS, if available, or as an electronic document. In most
cases, the Vendor can request an electronic copy of the Pricing Pages for bid
purposes by sending an email request to the following address:

Misty.M Delong@wv.gov.

Discount Percentage: Vendor may quote a single Discount Percentage that
will reduce the lowest price shown in the Catalog for every Contract Item.
The resulting Adjusted Upit Price shall be the price Agency pay for
purchases of that Contract Item under this Contract.

Revised 10/27/2014
RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13,  1:05PM



SEP-13-2016 @3:25 From:PENNSBORO ATY 13846593276

To:13845583970

REQUEST FOR QUOTATION
Mow Master Mower OEM Parts or Equal

Page:33-51

4.4

Vendor shall not incorporate Discount Percentages into jts Catalog unless
the Vendor clearly shows the Catalog Price and then separately lists the
applicable Discount Percentage and the Adjusted Unit Price for each

Contract Item,

The Discount Percentage and subsequent Adjusted Unit Price derived from
that discount must take into account any and all fees, charges, or other
miscellaneous costs that the Vendor may require, including delivery charges
as indicated below, because those fees, charges, or other miscellaneous costs
will not be paid separately. The Agency shall only pay the appropriate
Adjusted Unit Price for items purchased under this Contract.

Markup Percentage: Vendor may quote a single Markup Percentage that
will increase the lowest price shown in the Catalog for every Contract Jtem.
The resulting Adjusted Uit Price shall be the price Agency pay for
purchases of that Contract Item wnder this Contract.

Vendor shall not incoxporate Markup Percentages into its Catalog unless the
Vendor clearly shows the CataJog Price and then separately lists the
applicable Markup Percentage and the Adjusted Unit Price for each Contract

Item.

The Markup Percentage and subsequent Adjusted Unit Price derived from
that markup must take into account any and all fees, charges, or other
miscellaueous costs that the Vendor may require, including delivery charges
as indicated below, because those fees, charges, or other miscellaneous costs
will not be paid separately. The Agency shall only pay the appropriate
Adjusted Unit Price for items purchased under this Coptract.

5. ORDERING AND PAYMENT:

5.1 Ordering: Vendor shall accept orders through wvOASIS, regular mail, facsimile,
e-mail, or any other written form of communication. Vendor may, but is not
required to, accept on-line orders through a secure internet ordering portal/website.
If Vendor has the ability to accept-on-line orders, it should inchude in its response a
brief description of how Agency may utilize the on-line ordering system. Vendor
shall ensure that its on-line ordering system is properly secured prior to processing

Agency orders on-line.

Revised 10/27/2014
RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13 1:05PM



SEP-13-20816 89:25 From:PENNSBORD ATY 13846593276 To: 13045583974 Pase:34-51

REQUEST FOR QUOTATION
Mow Master Mower OEM Parts or Equal

5.2 Payment: Vendor shall accept payment in accordance with the payment
procedures of the State of West Virginia.

6. DELIVERY AND RETURN:

6.1 Delivery Time: Vendor shall ship deliver standard orders within five (5) working
days after orders are received. Vendor shall deliver emergency orders within one
(1) working day, upon the Agencies request. Vendor shall ship all orders in
accordance with the above schedule and shall not hold orders until a minimum
delivery quantity is met. Contract Jtems must be delivered to the ordering Agency

attached hereto as Exhibit B,

6.2 Late Delivery: The Agency placing the order under this Contract must be notified
in writing if orders will be delayed for any reason. Any delay in delivery that could
cause harm to an Agency will be grounds for cancellation of the delayed order,
and/or obtaining the items ordered from a third party.

Any Agency seeking to obtain items from a third party under this provision must
first obtain approval of the Purchasing Division.

6.3 Delivery Payment/Risk of Loss: The Agency will pay all shipping and crating
costs for standard and emergency orders provided that Vendor invoices those
delivery costs as a separate charge with the original freight bill attached to the

invoice.

6.4 Return of Unacceptable Items: If the Agency deems the Contract Items to be
unacceptable, the Contract Iterms shall be returned to Vendor at Vendor’s expense
and with no restocking charge. Vendor shall either make arrangements for the
return within five (5) days of beng notified that items are unacceptable, or permit
the Agency to arrange for the return and reimburse Agency for delivery expenses.
If the original packaging cannot be utilized for the return, Vendor will supply the
Agency with appropriate return packaging upon request. All returns of
upacceptable items shall be F.O.B. the Agency’s location. The returned product
shall either be replaced, or the Agency shall receive a full credit or refund for the

purchase price, at the Agency’s discretion.

Revised 10/27/2014
RECEIVED TIME SEP.13.  9-32AM PRINT TIME SEP. 3. 1:05PM



SEP-13-2016 B9:26 From:PENNSBORO ATV 13046593276 To: 13845583970 Page:35/51

REQUEST FOR QUOTATION
Mow Master Mower OEM Parts or Equal

6.5 Return Due to Agency Error: Items ordered in error by the Agency will be
returned for credit within 30 days of receipt, F.0.B. Vendor’s location. Vendor
shall not charge a restocking fee if returned products are in a resalable condition.
Items shall be deemed to be in a resalable condition if they are unused and in the
original packaging. Any restocking fee for items not in a resalable condition shall
be the lower of the Vendor’s customary restocking fee or 5% of the total invoiced

value of the retumed items.

7. VENDOR DEFAULT:

7.1  The following shall be considered a vendor default under this Contract.

7.1.1 Failure to provide Contract Items in accordance with the
requirements contained herein.

7.1.2 Faillure to comply with other specifications and requirements
contained herein.

7.13  Failure to comply with any laws, rules, and ordinances applicable
to the Contract Services provided under this Contract.

7.1.4 Failure to remedy deficient performance upon request.

7.2 The following remedies shall be available to Agency upon default.
7.2.1 Immediate cancellation of the Contract.

7.2.2 Immediate cancellation of one or more release orders issued under
this Contract.
7.2.3  Any other remedies available in law or equity.

8. MISCELLANEQUS:

8.1 No Substitutions: Vendor shall supply only Contract Items submitted in response
to the Solicitation unless a contract modification is approved in accordance with the

provisions contained in this Contract,

8.2 Vendor Supply: Vendor must carry sufficient inventory of the Contract Iterus
being offered to fulfill its obligations under this Contract. By signing its bid,
Vendor certifies that it can supply the Contract tems contained in its bid response.

Revised 10/27/2014
RECEIVED TIME SEP. 13, 9:37AM PRINT TIME SEP. 13.  1:05PM



13046593276 To1:13B45583970 Page: 3651

SEP-13-2816 B9:26 Fram:PENNSEORD ATU

REQUEST FOR QUOTATION
Mow Master Mower OEM Parts or Equal

8.3 Reports: Vendor shall provide quartexly reports and amnual summaries to the
Agency showing the Agency’s items purchased, quantities of items purchased, and
total dollar value of the items purchased. Vendor shall also provide reports, upon
request, showing the items purchased during the term of this Contract, the quantity
purchased for each of those items, and the total value of purchases for each of those
items. Failure to supply such reports may be grounds for cancellation of this

Contract.

84 Contract Manager: During its performance of this Contract, Vendor must
designate and maintain a primary contract manager responsible for overseeing
Vendor’s responsibilities under this Contract. The Contract manager must be
available during normal business hours to address any customer service or other
issues related to this Contract, Vendor should list its Contract manager and his or

her contact thformation below.

Contract Manager: _ZACHARY WAGGONER

Telephone Number: .74n 373.¢63¢

Fax Number: _ 1.740.173_3809%
Email Address: zwaggoner@bridgeportequip.com

Revised 10/27/2014
RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13. 1:05PM



SEP-13-2016 B89:26 From:PENNSBORD ATY

13846533276

To:13B45583976

REQUEST FOR QUOTATION
MOW MASTER MOWER OEM PARTS OR EQUAL

Page: 37751

EXHIBIT B: DIVISION OF HIGHWAYS LOCATIONS

Equipment Division

WYV Division of Highways
P.O. Box 610
Buckhannon, WV. 26201
Attn: Mike Neely

WVDCT/Division of Highways
District 1 Headquarters

1340 Smith St.

Charleston, WV. 25301
Atth: Bob Heckert

WVDOT/Division of Highways
District 2 Headquarters

P.O. Box 880

Huntington, WV, 25712

Attn: Linda Hatfield-Corder

WVDOT/Division of Highways
District 3 Headguarters

626 Depot 5t

Parkersburg, Wv. 26101
Attn: Karen Greenburg

WVDOT/Division of Highways
District 4 Headquarters

P.o. Box 2570

Clarksburg, WV, 26301

Attn: Bryan Henry

WVDOT/Division of Highways
District 5 Headquarters

P.O. Box 99

Burlington, WV, 26710

Attn: Laranda Baldwin

RECEIVED TIME SEP. 13

(FOUR COPIES)

9.32AM

WVDOT/Division of Highways
District 6 Headquarters

1 DOT Drive

Moundsville, WV, 26041-2353
Attn: Mike McGreal

WVDQT/Division of Highways
District 7 Headquarters
Drawer 1228

Weston, WV, 26452

Attn: Melissa Jordan

WVDOT/Division of Highways
District B Headquarters
P.O.Box 1516

Elkins, WV. 26241

Attn: Debbie Barnett

WVDOT/Division of Highways
District 9 Headquarters

103 1/2 Church Street
Lewisburg, WV. 24901

Attn: Sherry Bostic

WVDOT/Division of Highways
District 10 Headquarters

270 Hardwood Lane
Princeton, WV, 24740

Attn: Angela Roske

PRINT TIME SEP. 13

1:05PM



SEP-13-2016 @3:27 From:PENNSBORO ATV

1:05PM
89/1/18

tem
2C75
2C¢85
541
6105M-TANK
80002
80003
80004
80005
C51
C55
FBO01
FRonz
FROO3
FBoDa
FRODS
FBO0S
FROO7
FBO08
FB009
FBO010
FBO11
FBO12
FRo13
FEO14
rB0O1S
FBO1B
FBO17
FBO18
FBO13
FBO20
FRO22
FRO23
FBOo24
FBO25
FBO26
FBO27
FBoza
FB029
FBO30
FBO31
FBO32

13846593276

To: 13845583970

Tri-Tech Manufacturing
Mow Master Mowers

Item Price List
Effective September 1, 2016

Description

Suggosted List
Price

PULLEY - DOUBLE 7.5"
PULLEY - DOUBLE 8"
PIN - DOOR GATE

CRADLE - RADIATOR MOUNT - SINGLE - JD

GREASE, ZERK, 1/8" A 48 DEGREE
GREASE, ZERK, 1/4"-28 STRAIGHT
GREASE, ZERK, 1/4"-28 - 45 DEGREE
GREASE, ZERK, 1/4"-28 - 90 DEGREE
BELT - FLAIL

V-BELT - 55"

BOLT - 3/8-18 X1

BOLT - M20-1.5 X 60

BOLT - M20-2.5 X 60MM COURSE
BOLT - 5/8-11 X 1-1/2 GR8

BOLT - 3/4-10 X 2-1/2 GR8

BOLT - M10-1.6X45 -GRe.8 F/ PTO HUB
BOLT - 1/2-13 X 1-3/4 GR8

BOLT - 3/4-10 X 4-1/2 GR2

BOLT - 3/8-16 X 2-1/2 GHB

BOLT - 3/8-16 X 3 GR&

BOLT - 3/8-18 X 3-1/2 GRS

BOLT - 9/8-18 X 8 GRB

BOLT - 5/18-18 X 2-1/2 GRB

BOLT - 1/2-13 X 2-1/2 GR8

BOLT - 5/8-11 X 1-3/4 GR8

BOLT - 1/2-13 X 3/4 GRs

BOLT - 1/4-20 X1

BOLT - 3/8-16 X 1-1/4 HEX FLAT
BOLT - 5/16-18 X 1.1/4 GRS

BOLT - 1-1/8-7X 3 GR8

BOLT - 5/8-18 X 3 FINE GR8

BOLT - 5/8-18 X 2 FINE GRB

BOLT - M20-2.5 X B0 GR 8.8

BOLT - 1-8 X9 GRADE 8

BOLT - 2/4-10 X 2 GRAB

BOLT - 3/4~10 X 3-1/4 GR®

BOLT - 1/2-13 X 2-1/2 GR8

BOLT - M8-1.0 X 25 8.8....

BOLT - 5/8-18 X 2.5 GRE

BOLY - M20-1.5 X 80 MM GR 8.8
BOLT - M10-1.5 X 35 MM GR8.8

RECEIVED TIME SEP.13.  9:32AM

120.00
132.60
7.00
1,480.00
1.20
0.80
0.80
0.80
25.00
27.00
0.52
4.00
210
1.00
2.10
0.3¢
1.22
3.50
1.00
1.20
0.80
0.50
0.40
0.40
3.00
0.80
.30
0.40
0.40
7.00
2.40
2.00
z.20
5.00
2.80
4.00
2.00
0.40
5.00
4.50
0.76

PRINT TIME SEP. 3.

1:05PM

Pase:48-51

Page 1 of 12



SEP-13-2016 99:27 From:PENNSBORD ATV 13R46593276 To: 138455839768 Pase:41/51

1:05PM Tri-Tech Manufacturing

09/1/16

Mow Master Mowers
Item Price List
Effective September 1, 2016
Suggested List
Itern Description Price
N T
FBO33 BOLT-3/8-16 X4 GR 8 1.70
FB034 BOLT - 1-8 X 7 GRS 15.00
FB03s CAP SCREW - 3/8-16 X 1 TCS 1.00
FB036 BOLT - 1/2-13 X 1-1/2 GRADE 8 1.10
FBO3? BOLT - 1/2-13 X 2 GRADE 8 1.20
FBOaB BOLT - FLAT SOCKET CAP - 1/2-12 X 1-3/4 1.00
FB039 BOLT - 1/2-13 X6 TAP GRADE 8 7.00
FBo40 BOLT - 5/8-11 X 1-1/4 GRAADE 8 1,50
FEoa1 BOLT - 1/2-13 X 2-3/4 GRADE 8 1.60
FBO42 BOLT - 3/8~16 X 2 GRADE B 0.70
FB043 BOLT - 3/4-10 X 4 GRADE & 4.00
FEoaa BOLT - 3/4-10 X 2 GRADE B 3.50
FRO4E BOLT - 1/2-13 X 7 GRADE 8 2,60
FFO01 ROLL PIN - 5/32 X 1-1/2 0.50
FF0O02 STUD - 3/8-18 X 2 GRB DOUBLE STUD 3.00
FF0O03 COTTER PIN - 1/8 X 3/4 0,12
FFo05 CLAMP - HYDRAULIC LINE 1* 9.00
FFoos BUMPER - CRADLE 18.00
FFOO7 SCREW - #14 X 1-1/2 FOR JOYSTICK 0.20
FFooR ROLL PIN - FOR SLOTTED NUT - 2/16 X 1-3/4 0.40
FFO0® SET SCREW - NYLON - 1/4-28 X 3/4 0.50
FNoO1 NUT - 5/8-11 NYLON LOCK 0.50
FNOO2 NUT - 1/2-13 NYLON 1.OCK 0.60
FNOO3 NUT - 3/a-10 NUT 0.90
FNOO4 NUT - 3/8-18 NYLON LOCK 0.20
FNCOS NUT - 5/16-18 NYLON LOCK 0.20
FINCOB NUT - 3/4-10 NYLON LOCK 0.60
FNOO7 NUT - 5/8-11 CRIMP LOCK 0.60
FNOGB NUT - 3/8-18 NUT 0.20
FNOO3 NUT - 1/4-20 NUT 0.10
FNO10 NUT - 9/4-10 GRB CRIMP NUT 1.00
FNO11 NUT - 1-8 TOP LOCK 2,50
FNO12 NUT - 1-1/B-12 NYLOK 9.00
FNO13 NUT - 1/2-13 TOP LOCK 1,00
FNO14 NUT - 5/8-18 NUT 1.00
FND15 NUT - M8-1.25 0.20
FNO16 NUT - 1-1/8-7 TGP LOCK 10.00
FNO17 NUT - 1-1/8-7 NUT 4.00
FNO1B NUT « 1/2.13 NUT 4.00
FWoM WASHER LOCK - 3/8" 0.05
FW002 WASHEH - 20MM - HARDENED 0.70
Page 2 0of 12

RECEIVED TIME SEP. 13, 9:32AM

PRINT TIME SEP. 13,

1:05PM



SEP-13-2616 ©9:27 From:PENNSBORO ATU

13p46593276

Tri-Tech Manufacturing
Mow Master Mowers

Item Price List
Effective September 1, 2016

O-RAING - REPLACEMENT FOR IN-TANK HOUSING

FILTER - IN-TANK RETUAN - 100 GPM WITH FILTER

MOTOR - HYDRAULIC - RQTOR - FLANGE MQUNT

1:05PM
09/1/18

ltem Description
L
FW003 WASHER - 3/4- HARDENED
FWoo4 WASHER - 3/4- LOCK HARDENED
FWODS WASHER - 3/8- HARDENED
FW006 WASHER - 5/16 HARDENED
FW007 WASHER - 1-1/8 - HARDENED
FW008 WASHER - 1/4
FW00g WASHER - SAE - 5/8 HARDENED
FW010 WASHER - SAE - 1 HARDENED
FWO11 WASHER - 1/2" SAE FLAT
FWO012 WASHER - 5/8 - LOCK - HARDENED
FWo13 WASHER - LOCK - 1/2"
MMOO1 MAIN FRAME
MMOO1-F MAIN FRAME - SIDE MOUNT
MMOD1-F-1 MAIN FRAME - TRANSPORT ARM
MMOO1-F-2 MAIN FRAME - TRANSPORT ARM MOUNT
MM001-G GUARD - VALVE BODY
MMO002 OIL RESERVQIR TANK
MMOO2-4 BARB ADAPTER - 2* GALV
MMOUZA OIL RESERVOIR TANK - BRACKET
MMO04 FILLER BREATHER
MMO05-1
MMOD5-2 GASKET - FOR IN-TANK HOUSING
MMOD5-8
MMO018-1 PIN - 2" X 21-1/2" - SWIVEL
MMO27C BOOM - PRIMARY - 17"
MMO27C-14 LINKAGE - DECK
MMo42 PIN - 2" 12-1/4" QETWEEN BOOMS
MMO46C BOOM « SECONDARY
MMO4EC-15 BRACKET - HYDRAULIC LINE
MM046C-P PIN - 1" X 10" LINKAGE PIN
MM047 PIN - 1-1/4 X 7-1/4 - YOKE
MMDS0 PIN, CYLINDER, 4"
MMOS0-1 PIN, MITCH F/ CYLINDER
MMOS0A PIN, CYLINDER,2"
MMO51-P PiN, CYLINDER, 10-13/16"
MMo52 LINK - ACTUATOR
MMO55-DP PUMP - DOUBLE PUMP
MMO55-KEY KEY FOR MM055-OR MOTOR
MMO55-OR
MM055-SP PUMP - SINGLE 350 SERIES
MMOS57 COUPLING CHAIN - 16

RECEIVED TIME SEP. 13.

G:32AM

To:1384558397A

Suggaested List
Price

Page:42-51

0.24
0.20
0.20
0.20
1.60
0.05
0.50
0.50
0.30
0.50
0.24
1,450.00
1,250.00
166.00
26.00
62.00
1,260.00
6.50
88,00
28.00
1.00
8.00
180.00
62.00
2,680.00
288.00
32,00
2,080.00
9.00
8.00
32.00
8.50
0.70
6.50
15.00
42.00
2,140.00
7.00
750.00
$80.00
24,00

PRINT TIME SEP. 13.

1:06PM

Page 3 of 12



SEP-13-2616 93:27 From:PENNSEORO ATU 13046593276 To: 13845583978 Page:43/51
1:05PM Tri-Tech Manufacturing
09/1/16
Mow Master Mowers

Item Price List
Effective September 1, 2016

Suggested List

ltem Description Price
- - S [ —
MMO57-1 LINK - MASTER - DOUBLE - 50 CHAIN 6.50
MMOD&0 PIN - 2" x 10-5/8 - BOOM TO DECK 32.00
MMOE0-P PIN - CYLINDER 16.00
MMeE1 SKID RUNNER - 50" DECK 45.00
MMO&3 BEARING CARAIER, SPINDLE HOUSING 1,200.00
MMO64 PIN, GYLINDER, 11" 13.00
MMOB9L COUPLER, LONG SPLINE W/ PIN 64.00
MMOBSL-A COUPLER, SHORT SPLINE 14 64.00
MM1000 FLAIL - HOUSING - 75" 2,350.00
MM1000-D FLAIL - HOUSING - 102" 2,800.00
MM1002 SIGHT GAUGE 3" AND THERMOMETER 30.00
MM1002-A SIGHT GAUGE - 5" W/ 1/2-13 BOLT THRU 30.00
MM1002C CUTTER SHAFT -~ 72" 2,800.00
MM1002D CUTTER SHAFT - 100" 2,820.00
MM1016 DEFLECTOR FLAP - FLAIL 75" 56.00
MM1016D DEFLECTOR FLAP - FLAIL 102" 72,00
MM1018-A BEARING - 2-3/16" - HUB PILOTED 4-BOLT FLANGE 120.00
MM1022.B BEARING ASSEMBLY - AND MOUSING - HEX 140.00
MM1022-B1 SEAL - FOR MM1022-B 7.00
MM141 Pin - 2" x 13-1/2° boom to swivel A45.00
MM142 FIN-~1-1/2X 16 381,00
MM149 PIN - 1-1/2 X 13-3/4 28.00
MM145 OIL FILTER CARTRIDGE 18.50
MM146 SKID RUNNER - 80" DECK 52.00
MM147 PIN-1-1/2X16 31.00
MM149 STRIP - FLAP HOLD DOWN - 80/70" DECK 35.60
MM1508 CYLINDER - 1.5 X6 - AXLE SUPPORT - 108.00
MM152 ROLL PIN, 1/8" X 3/a" 0.40
MM153 SPINDLE, MOWER 880.00
MM153-1 WASHER - RETAINING 7.00
MM 54 KEY, 3/8" X 1", SPINDLE 1,50
MM154-1 KEY, 1/2" X 2".. 1.50
MM184.2 KEY, 3/8" X 2".. 1.50
MM154-3 KEY, 516" X 1/4" X 2", 1.50
MM155 SEAL, OIL, LOWER SPINDLE 22.00
MM156 BEARING CONE, LOWER 70.00
MM157 RACE, BEARING CUP 50.00
MM160 BEARING CUP, UPPER SPINDLE 23.00
MM187 BEARING GONE, UPPER SPINDLE 54.00
MM162 SEAL, UPPER RING 15.00
MM183 SLEAVE, STEEL, BEARING ADJUSTMENT 12.00

Page 4 of 12

RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13, 1:06PM



SEP-13-2@16 B9:27 From:PENNSBORO ATY

13p46593276

To:138455839789

Fase:44-51

;g';f;': Tri-Tech Manufacturing
Mow Master Mowers
Iltem Price List

Effective September 1, 2016

Suggested List
Hem Description Price

— |
MM165 NUT, BEARING LOCK 14.00
MM1G5A NUT, BIG, HEX 48.00
MM1E6 SCREW, SET. 1/4" - 28 0.28
MM187-1 SPROCKET - 5016 X 1-1/4 26.00
MM188 SPROCKET -5016 X 1-1/2 30.00
MM188-1 COUPLER - SPROCKET F/ GEARBOX 146.00
MM1889 STRIP - FLAP HOLD DOWN - 50" DECK 35.00
MM190 DOOR - TREE GATE 50" DECK 220.00
MM193 GUARD FLAP - F/ 50" DECK 40,00
MM183A-50 FLAP - 50" DECK 52.00
MM193A -60 FLAP - 60° DECK 58,00
MM250 CRADLE - BOOM 1,620.00
MM250-10 PLATE - WEAR 14.00
MMz50-10-1 HAUBBER SPACER - CRADLE 22.00
MM250-11 GUARD - RADIATOR 48.00
MM250-12 BRACKET - AADIATOR - WY 130.00
MM28406 CYLINDER - 2X8 FOR DOOR 84.00
MM33008 CYLINDER - 2" X 8" CLEVIS STYLE 280.00
MM33010 CYLINDER - 2" X 10° CLEVIS PiN 285.00
MM3a520 CYLINDER - 3,5 X 20 282.00
MM33520-A GYLINDER - 3.5 X 20 WITH NO CLEVIS 392.00
MM3g08-A IDLER SHAFT FOR FLAIL 23.00
MM3609-B PULLEY - FLANGED FOR FLAIL IDLER 85.00
MMasoaT BELT TENSIONER - FLAIL 70.00
MM43006 CYLINDER - 3" X 6" WITH SAE #8 PORTS, CLEVIS MOUN 228.00
MMaa008 CYLINDER - 4X 8" STROKE - CLEVIS STYLE 420,00
MM44008-1 CYLINDER - STOP 12.00
MM44010 CYLINDER - 4X 10" STROKE - CLEVIS STYLE 410,00
MM44024 CYLINDER - 4" X 24" 480.00
MM50-A DECK - 50" FOR BOOM - LESS DOOR 2,480.00
MMSs275 FILLER BREATHER RISER BLOCK 10.00
MMBO-R DECK - 60" - SIDE MOUNT 2,820.00
MM60C COVER - BOLT ACCESS 7.00
MM649 GAUGE - FILTER RESTRICTION 22.00
MMAB-1 BHACE ~ AXLE 142,00
MMAB-2 BRACE - LINK 84.00
MMAR-3 WEAR PLATE - AXLE BOOM 32.00
MMEB0O01 HITCH PIN - 1* X 6-1/4" 7.50
MMB1 BOLT - BLADE MOUNTING 12.00
MMB2 BOLT KIT - BOLT, PIN, CASTLE NUT 24.00
mMmBE3 BOLT - w/HOLE FOR PIN 22.00

RECEIVED TIME SEP. 13,

9:37AM

PRINT TIME SEP. 13,

1:06PM

Page 5 of 12



SEP-13-2@16 29:28 From:PENNSBORO ATV

13846593276

;gf;f:: Tri-Tech Manufacturing
Mow Master Mowers
Item Price List
Effective September 1, 2016
Suggested List
Item Descrigtion Price

MMBAR-ASSY BLADE BAR ASSEMELY - INCLUDES BLADES, BOLTS, NI 2,650,00
MMEAT-C GUARD - BATTERY - Wv 74.00
MMF1017-L SKID SHOE HOLDER - LEFT : 56.00
MMF1017-R SKID SHOE HOLDER - RIGHT 58.00
MMF1018L SKID RUNNER - LEFT 52.00
MMF1019-1 BLADE, FLAIL - LIGHT DUTY 1.80
MMF1020 PIN F/ CLEVIS AND KNIVES 1,10
MMF1021 CLEVIS F/ FLAIL KNIVES 2.50
MMF1030 PIN - HITCH - 1-1/8 X & 10.00
MMF1031 PIN - TOP LINK » 1 X 4 5.30
MMF1108-A GEARBOX - REVERSE FOR FLAIL 2,260.00
MMF2001 BEARING - PILLOW FOR DRIVE SHAFT - FLAIL 52.00
MMFR100-1 ROLLER - 102" 750.00
MMFR7S AOLLER - 75" 890.00
MMISM-1 MOUNT - JOYSTICK 58,00
MMN1 NUT - BLADE MOUNTING 4,00
MMN2 NUT - SLOTTED - BLADE MOUNTING 8.00
MMPG-1 GUARD - PUMP 140.00
MMS125 DRAFTBEAM - WV 1,280.00
MMS125-0R DRAFTBEAM - SIDE MOUNT - WITH BOLT STOP 1,280.00
MMS125-SM DRAFTBEAM - SIDE MOUNT 1,280.00
MMS145 SKIDSHOE - 80" DECK 60.00
MMS1 49 STRIP - FLAP HOLD DOWN . 80/70" DECK 35.00
MMS150 BRACKET - MOTOR MOUNT FOR MOWER DECK 110.00
MMSEM131 SPACER - 1/2" 3.00
MM3M132 SPACER - 3/0" 3.00
MMSW SWIVEL - TRACTOR SIDE - 2" 1,370.00
MMSW1 SWIVEL - BOOM SIDE 1,160.00
MMTZ BLADE - 60" DECK 34.00
MMT4 BLADE - DOUBLE EDGE - 50" DECK 48,00
MMUCB-1 AXLE - FRAME 140.00
PC-75DFH-17 LINK - ARM - SLOT 22.00
PC-75DFH-18 LINK - AFRM - 3-HOLE 22.00
PC-75DFH-26 MOUNT - PUMP - JD 118.00
SB-1 BUSHING - 1-1/4 0.D. X 1 X 1 4,50
sB-2 BUSHING - 1-3/4 0.0, X 1-1/2 X 3 12.00
8B-3 BUSHING - 2.i/4 O.D. X 2 X 3 13.00
SB-4 BUSHING - 1-6/8 O.D. X 1-1/4 1.D. X 2-1/2 LONG 15.00
SB-5 BUSHING - 1-5/2 0.D. X 1-1/4 1.D. X t LONG 12.00
3B-6 BUSHING - 1-1/2 0.D. X 1-1/4 1.D. X 1 LONG 12.00
SB-7 BUSHING - 1-3/4 O.D. X 1-1/2 1.D. X 1-1/2 LONG 14.00

RECEIVED TIME SEP. 13.  9:32AM

PRINT TIME SEP. 13.

To:13845583978

-

Page:45/51

1:06PM

Page 6 of 12



SEP-13-26116 99:28 From:PENNSBORO ATV 13046593276 To: 130455683973
;9‘;:'/‘:’: Tri-Tech Manufacturing
Mow Master Mowers
Item Price List
Effective September 1, 2016
Suggested List
Itam Description Frice
.

SFX112 BUSHING - §F 1-1/2 32.00
SFX114 BUSHING - SF 1-1/4 32.00
SFX2318 BUSHING - SF 2-3/16 33.00
TT-001 DECAL - DANGER DISCHARGE OPENING 260
TT-002 DECAL - NOTICE FLEXIBLE GUARD 2.50
TT-003 DECAL - WARNING - SAFETY GUARDS 2.50
TT-004 DECAL - DANGER - KEEP AWAY 2.50
TT-005 DECAL - TRI TECH 20.00
TT-006 DECAL - JOYSTICK CONTROLS 2.00
TT-007 DEGAL « GAUTION HOT 2.50
TT-008 DECAL - LUBE POINT 0.60
TT-009 DECAL - TWO LEVER CONTROLS 2.00
TT-0IL QIL- HYDRAULIC PER GALLON 10.00
TT-WW1800WvV WHEEL WEIGHT - 1800 LBS 3,260.00
TT1004 EATON PROPORTIONAL VALVE - 5 SECTIONS - 3,860.00
TT1006 PC - HYDRAFORCE 785,00
TT1005-1 WIRING HARNESS - WV BOOM 680,00
TT1005-2 WIRING HARNESS - 5IDE MOUNT FLAIL - NO JOYSTICK 460,00
TT1006 JOYSTICK - GS GLOBAL 1,475.00
TT1007 ACCUMULATOR 110.00
TT2004 PIN - 1-1/2" X 14" 18.00
TT2005 SHAFT - 14 SPLINE - PER INCH 4.00
TTHOOM 1-1/4" CODE 61 TUBE FLANGE HEAD FITTING 18.00
TTHOD2 2" CODE 81 TUBE FLANGE HEAD FITTING 28.00
TTHOO3 SFK-20 FLANGE KIT 27,00
TTHRO4 SFK-32 FLANGE KIT 38.00
TTHOOS FJ-MJ BLOCK 1-1/4 X 1-1/4 JIC 44 .00
TTHO05-1 FJ-MJ BLOCK 1 X 1 JIC 36.00
TTHOOS FLANGE 1-1/4 CODE 61 10.00
TTHOO6-1 FLANGE 1 CODE 81 8.00
TTHoO7 FITTING - MJ-MP 90 4.00
TTHOOB FITTING - MJ-MB 90 4,00
TTHOOS FITTING - MJ-MB 8.00
TTHO10 FITTING - MJ-MB 80 20.00
TTHO100 PLUG - ORB 3.00
TTHO101 ADAPTER - ORB X JIC 3.00
TTHO102 HOSE END 7.00
TTHO102 HOSE END - FNIC 12.00
TTHC104 FITTING 4.00
TTHO105 HOSE END 30.00
TTHo108 PLUG 2.30

RECEIVED TIME SEP. 13.  9:32AM

PRINT TIME SEP. 13,

T:06PM

FPaase:46-51

Page 7 of 12



SEP-13-2016 B9:28 From:PENNSBORD ATV

1:05PM
09/1/16

Item

TTHO107
TTHO08
TTHo108
TTHO14

TTHO110
TTHO111
TTHo112
TTHo112
TTHO114
TTHOM 13
TTHO116
TTHO117
TTHO 18
TTHO119
TTHO12

TTHO120
TTHO121
TTHO122
TTHO123
TTHO124
TTHO125
TTHO126
TTHO127
TTHO128
TTHo1Z0
TTHO13

TTHO130
TTHOt1
TTHO132
TTHQ133
TTHO134
TTHO135
TTHO136
TTHQ137
TTHO138
TTHO132
TTHO14

TTHO140
TTHOT41
TTHO142
TTHO143

13046593276

To: 138455839 7@

Tri-Tech Manufacturing
Mow Master Mowers

Itemn Price List
Effective September 1, 2016

Description Price
L P — e —
O-RING 0.80
BREATHER VENT - SAE#A 8.00
ADAPTER 6.00
FITTING - FEMALE WING COUPLING 120.00
FITTING 3.00
ADAPTER 2.80
ADAPTER 5§.50
ADAPTER 5.00
CLAMP - 5.00
CLAMP - BAND - 1-1/2" S5 3.50
PLUG 28.00
PLUG 12.00
ADAPTER 2.00
ADAPTER 2.00
FITTING - MALE WING COUPLING 115,00
ADAPTER 2.00
HOSE END a8.00
BAND GLAMP 3.00
FITTING J0.00
COUPLING™ 110.00
COUPLING 65.00
LIVE SWIVEL 130.00
ADAPTER 3.50
ADAPTER 5.50
Q-RING/NPT ADAFTER 3.50
FITTING - 3105-0006 38.00
BULKHEAD W/ LN 4.50
COUPLING 26.00
ADAPTER 200
SLEEVE 5.00
HOSE END 45.00
MEX SOCKET PLUG 1.00
HOSE END - 48 DEG 55.00
80 ADAPTER 27.00
04U-MO4 45.00
HOSE - SLEEVE PROTECTION 5.80
FITTING - T BOLT CLAMP 11.00
HOSE - SLEEVE PROTECTION 5.50
PLUG 2.30
CLAMP - 1" TUBING 12.00
O-RING HOSE END 15,00

RECEIVED TIME SEP. 13, 9:32AM

Suggested List

PRINT TIME SEP, 13

Page:47-51

Page 8 of 12



SEP-13-26116 239:28 From:PENNSEORD ATV

13846593276

To: 13045583970

Page:43-51

e Tri-Tech Manufacturing
09/1/16
Mow Master Mowers
Iltem Price List
Effective September 1, 2016
Suggasted List
ltem Description Price
L . — [ _—
TTHO144 ADAPTER 3.00
TTHO145 FITTING 44,00
TTHO146 ADAPTER 9.00
TTHO147 HOSE ASSEMBLY 26.00
TTHO148 ADAPTER 8.00
TTHO148 ADAPTER 130.00
TTHO15 FITTING - 2.00
TTHO150 ADAPTER 2.50
TTHO151 NUT - JIG - 1" 3.50
TTHO152 SLEEVE - JIC - 1" 2.00
TTHO153 VALVE - 2" BALL FOR SUCTION LINE 26.00
TTHO154 HOSE END - 80 FLANGE 66.00
TTHO155 ADAPTER - 80 5.00
TTHO156 042Z-508 12,00
TTHO157 JIC X ORB 90 DEG 18.00
TTHO188 ADAPTER 17.00
TTHO159 PLUG - PIPE - 1/2" FOR TANK
TTHO16 FITTING - TEE - MJ-MB-MJ 30.00
TTHO20-1 TUBING - 1" X 0.0685 STEEL TUBING - 60" DECK 78.00
TTHO20-2 TUBING - 1" X 0.065 STEEL TUBING - 60" DECK 78.00
TTHO24 ADAPTER 20.00
TTHOZS ADAPTER 35.00
TTHOz6 ADAPTER 46.00
TTHO2? ADAPTER 4,00
TTHO28 ADAPTER 4.50
TTHO29 ADAPTER 22.00
TTHO30 REDUCER JIC 15.00
TTHua1 ADAPTER - 90 JIC 16.00
TTHO32 ADAPTER - 80 JIC 11.00
TTHO=3 HOSE FITTING 8.00
TTHO24 FITTING 20.00
TTHO35 FITTING 13.00
TTHO2E FITTING 40,00
TTHO37 FITTING 25.00
TTHOA8 FITTING 30,00
TTHO39 FITTING 54.00
TTHO40 FITTING 72.00
TTHO41 FITTING 28.00
TTHO42 FITTING - FLANGE KIT 16.00
TTHO43 FITTING - FLANGE KIT 34.00
TTHO44 CLAMP - FOR 2" PICK-UP HOSE 9.00
Page 9 of 12
RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13 1:06PM



SEP-13-2016 ©9:28 From:PENNSBORD ATU

1;05FM
09/1/16

Item

13846593276

Tri-Tech Manufacturing
Mow Master Mowers

Item Price List
Effective September 1, 2016

Suggested List

Desecription

E—
TTHO45

TTHO46
TTHo47
TTHD48-1
TTHOAD-1
TTHO49-2
TTHO51
TTHOS52
TTHOS3
TTHO54
TTHO6S
TTHO56
TTHOB7
TTHOs8
TTHOSg
TTHOB0
TTHOG1
TTHoG2
TTHOGE3
TTHOG4
TTHOES
TTHoGE
TTHOB7
TTHOGE
TTHoES
TTHO7O
TTHO71
TTHo72
TTHOT3
TTHO74
TTHO76
TTHOTE
TTHOF?
TTHO78
TTHO7S
TTHO8Q
TTHOB1
TTHoB2
TTHCA3
TTHO84
TTHO85

RECEIVED TIME SEP. 13,

CLAMP - 2" BAND

ADAPTER - 20 JIC

PIPE - CUSTOM LINE - HYDRAULIC SUPPLY LINE
STRAINER- SUCTION 2* MNPT X 2° MNPT PORT
EXTENDER - 10" - 1" FUX - MJ
EXTENDER - 6" 1" FuX - MJ
ADAPTER - TEE JIC
ADAPTER - 1/4 MJIC X 1/2" MORB 80 DEG
FITTING

FITTING

ADAPTER

FITTING

FITTING

ADAPTER - FLANGE
FITTING )

FITTING

FITTING

FITTING

FITTING

FITTING

CLAMP - 2-1/4" BAND
CLAMP - 2-1/2" BAND CLAMP
HOSE - 2" SUCTION LINE
TEE

HOSE END

SOCKET..

ADAFPTER - 80

BREATHER VENT - 08

PLUG

BREATHER VENT - /4"
BULKHEALD - 06

BEULKHEAD - 06 NUT
COUPLING - 08

ADAPTER - JiC

HOSE END

HOSE END

HOSE END

ADAPTER

HOSE END

ADAPTER - O-RING

TEE - JIC

9:32AM

Price
]

3.80
.40
180,00
62.00
26.00
23.00
20.00
4,50
1.50
18.00
14.00
80.00
70.00
24.00
18.00
20.00
22.00
22.00
32.00
21.00
3.80
4.50
11.00
26.00
2.00
20.00
4.50
11.00
8.00
4.00
5.00
1.00
2.00
11.00
2.00
24.00
.00
22.00
22,00
4.50
22.00

PRINT TIME SEP. '3

To: 13845583979

Pase:49-51

1:06PM

Page 10 of 12



SEP-13-2@16 ©9:28 From:PENNSBORD ATV

13846593276

To: 138455839708

: =°f':z' Tri-Tech Manufacturing
I Mow Master Mowers
[tem Price List
Effective September 1, 2016
Sugpested List
Item Desgription Price

R —
TTHOBS ADAPTER - 80 JIC 18.00
TTHoB? SWIVEL 160.00
TTHOR?-1 SWIVEL, 160.00
TTHOE8 HOSE END 90,00
TTHoB8 HOSE END 20.00
TTHos0 HOSE END 30.00
TTHOS1 HOSE END 70.00
TTHOg2 ADAPTER 3,00
TTHosa ADAPTER 5.00
TTHO94 ADAFTER 26.00
TTHo95 PLUG 11.00
TTHO96 ADAPTER B.00
TTHog7 ADAPTER - 90 14.00
TTHogg HOSE END 7.00
TTHos8 HOSE END 18,00
TTH1001 RED BLOCK REPLACEMENT - USE WITH Svos 1,650.00
TTH1002 COOLER - RADIATOR 1.050.00
TTAF-PTO PTO - FOR REAR FLAIL - 34" 350.00
TTRF-PTO-1 PTO - UNIVERSAL JOINT 34.00
TTRF-PTO-2 PTO - FRICTION PLATE 16.00
TTRF102-3 GUARD - BELT F/ REAR FLAIL 78.00
TTRF102-4 GUARD - SHAFT Ff REAR FLAIL 62.00
TTAF102-5 STRIP - FLAP MOUNT 102" 41,00
TTRF102-8 SHAFT - 1-1/2" 68.00
TTSF75-10 PLATE - AROLLER ADJUSTMENT 38.00
TTSF75-11 GUARD - SHAFT 42.00
TTSF75-12 CLAMP - ROLLER LIFT 28.00
TTSF75-14 PIN - 1" 19,00
TTSF78-15 ADJUSTMENT ROD 28.00
TTSF75-16 GUARD - BELT F/ 8IDE MOUNT FLAIL 68,00
TTSF75-2 STRIP - FLAP MOUNT 38.00
TTSF75-5 WEAR PLATE - FLAIL 45.00
TTSF75-7 PLATE - ROLLER ADJUSTMENT 46.00
TTSF75-8 PLATE - LOCKING - 2" 8.00
TISE759 SPACER - 1-1/2° 9.00
W09 WASHER, LOCKING TAE 3.20
HUB-G105 HUB W/ SHORT SPUNE COUPLER - JD 300.00
MMSE0 DISK - ROTARY MOUNTING FOR 60” & 72" 960.00
MMS940 SPINDLE ASSEMBLY 2,360.00
TT-102-RF 102" FLAIL - REAR RIGHT OFFSET 8,500.00
TT-SIDE HOSE KIT HOSE KIT - SIDE MOUNT 280,00

RECEIVED TIME

SEP. 13,

G:32AM

PRINT TIME SEP. 13.

Page:5H/51

1:06PM

Page 11 ot 12



Page:51-51

SEP-13-2016 ©9:28 From:PENNSBORO ATV 1346593276 To: 13845583970
1:05PM Tri-Tech Manufacturing
09/1/18
Mow Master Mowers
Item Price List
Effective Septemnber 1, 2016
Suggested List
ttem Description Frice
R — L]
TTano1 HUB W/ SHORT SPLINE COUPLER - JD 300.00
TTHLOO1 HYDRAULIC LINE - TREE GATE - 186,00
TTHLOO2 HYDRAULIC LINE - CASE DRAIN ,.- 140,00
TTHLOO3 HYDRAULIC LINE - SWIVEL CYLINDER..- " 30.50
TTHLOO4 HYDRAULIC LINE - 1" - PRIMARY 146.00
TTHLOOS HYDRAULIC LINE - 1" - SECONDARY 140.00
TTHLOOE HYDRAULIC LINE - 1" - DECK.. 148.00
TTHLOO7 HYDRAULIC LINE - 1/4" - CYLINDER 1 PRIMARY.. 54,00
TTHLoos HYDRAULIC LINE - 1/4" - CYLINDER 2 PRIMARY.. 65.00
TTHLOO9 HYDRAULIC LINE - 1/4" - CYLINDER SECONDARY.. 82,00
TTHLO10 HYDRALULIC LINE - STEEL LINES - PRIMARY.. 440.00
TTHLO11 HYDRAULIC UNE - STEEL LINES - SECONDARY.. 182.00
TTHLO12 HYDRAULIC LINE - 1/4* - GATE.. 2g.00
TTHLO13 HYDRAULIC LINE - 1/4" - BWING CYLINDER.. 26.00
TTHLO14 HYDRAULIC LINE - 1/4" - DEGK TILT.. 26.00
TTHLOS HYDRAULIC LINE - 1/4" - DECK TILT ROD.. 23.00
TTHLO16 HYDRAULIC LINE - 1/4" - SECONDARY BOOM.. 26.00
TTHLO1Z HYDRAULIC LINE - 1/4" - MAIN BOOM.. 20.00
TTHLO18 HYDRAULIC LINE - PUMP.. 39.00
TTHLO19 HYDRAULIC LINE - TANK.. 52.00
TTHLOZ0 HYDRAULIC LINE - RETUAN., E2.00
TTHLO21 HYDRAULIC LINE - 1/4" - CASE DRAIN.. 25.50
TTHLO22 HYDRAULIC LINE - 1/4" - SIOE DECK .. 65.00
TTHLO23 HYDRAULIG UNE - 1/4" - SIDE DECK LIFT.. 65.00
TTHLO24 HYDRAULIC LINE - 1/2" - BOOM PUMP 78.00
TTHLO25 HYDRAULIC LINE - 1 - BOOM PUMP.. 180.00
TTHLO26 HYDRAULIC LINE - 1/4® - AXLE BRACE.. 3B.00
TTHLog7 HYDRAULIC LINE - 1" - TANK RETURN,, 126.00
TTHLO28 HYDRAULIC LINE - 1/4" - TANK .. 54,00
TTHLD29 HYDRAULIC LINE - 1/2" - TANK .. . 68.00
TTHLO30 HYDRAULIC LINE - 1/4* - CASE DRAIN 80" SIDE MOUNT.. 92,00
TTHLOA1 HYDRAULIC LINE - 1/4" - SIDE MOUNT - 4" CYLINDER.. 66,00
TTHLO32 HYDRAULIC LINE - 1/4" - 3" CYLINDER 68.00
TTHLO3Z HYDRAULIC LINE - 1* SIDE MOUNT 148,00
TTHLO34 HYDRAULIC LINE - 1* SIDE MOUNT BETUHN 212.00
TTHLO35 HYDRAULIC LINE - 1/2" - TANK 210.00
TTHLOS8 HYDRAULIC LINE - 1" RADIATOR TQ TANK 126.00
TTHLOa7? HYDRAULIC LINE - 1/4 - GASE DRAIN SIDE FLAIL 92.00
TTHLO38 HYDRAULIC LINE - 1/2-SIDE FLAIL MOTOR 74,00
TTHLO39 HYDRAUUC LINE - 1/2- SIDE FLAIL MOTOR 74.00
RECCIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13,

1:06PM

Page 12 of 12



SEP-13-2@016 @9:26 From:PENNSBORO ATV 13846593276 To: 13045583370 Fase:38/51

wv-10 _ State of West Virginia
zas o VENDOR PREFERENCE CERTIFICATE

Certification and application is hereby made for Preference in accordance with West Virginia Code, §5A-3-37. (Does nat apply to
construction contracts). West Virginia Code, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid)
preference for their residency status, Such preference is an evaluation method only and will be applied only to the cost bid in
accordance with the West Virginia Code. This certificate for application is to be used to request such preference. The Purchasing
Division will make the determination of the Vendor Preferencs, if applicable.

1, Application is made for 2,5% vendor preference for the reason checked:

Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preced-
ing the date of this certification; or,

Bidder is a partnership, association or corporation resident vendor and has maimained its headquarters or principal place of
business continuously in West Virginia for four (4) years immedtately preceding the date of this cettification;

Bidder is a resident vendor partnership, association, or corporation with at least eighty percent of ownership interest
of bidder held by another entity that mests the applicable four year residency requirement; or,

Bidder is a nonresident vendor which has an affifiate or subsidiary which employs a minimum of one hundred state residents
and which has maintained its headquarters or principal place of busingss within West Virginia continuously for the four (4)
years immediately preceding the date of this centification; or,

Application iz made for 2.5% vendor preference for the reason checked:
Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the amployees
working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years

immediately preceding subrnission of this bid; or,

Application is made for 2.5% vendor preference for the reason checked:

Bidder is & nonresident vendor that employs a minimum of one hundred state residents, or a nonresident vendor which
has an affiliate or subsidiary which maintains its headquanters or principal place of business within West Virginia and
employs a minimum of one hundred state residents, and for purposes of producing or distributing the commodities or
completing the project which is the subject of the bidder’s bid and continuously over the entire term of the project, on
average at least seventy-five percent of the bidder's employees or the bidder’s affiliate’s or subsidiary's employees are
residents of West Virginia who have resided in the state continuously for the two immediately preceding years and the
venhdor’s bid; or,

Application is made for 5% vendor preference for the reason checked:
Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above;or,

Application is made for 3.5% vendor preference who is a veteran for the reason checked:

Bidder is an individual resident vendor who is a veteran ofthe United States armed forces, the reserves of the National Guard
and has resided in West Virginia continuousiy for the four years immediately preceding the date on which the bid is
submitted; or,

Application is made for 3.5% vendar preference who is a veteran for the reason checked:

Bidder is a resident vendor wha is a veteran of the United States armed forces, the reserves or the National Guard, i, for
purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and
continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are
residents of West Virginia who have resided in the state continuously for the two immediately preceding years,

7. Application is made for preference as a non-resident small, women- and minority-owned business, in acoor-
dance with West Virginia Code §5A-3-59 and West Virginia Code of State Rules,

[ Bidderhasbeenor expects to be approved prior 1o contract award by the Purchasing Division as a certified small, wormen-
and minority-owned businass.

Bidder understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to mesat the

requirements for such preference, the Secretary may order the Director of Purchasing to: () rescind the contract or purchase order;

or (b} assess a penalty against such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to

the contracting agency or deducted from any unpaid balarice on the contract or purchase order.

By submission of this certificate, Bidder agrees 1o disclose any reasonably requested information to the Purchaging Division and
authorizes the Department of Revenue to discloss to the Director of Pu rchasing appropriate information verifying that Bidder has paid
the required business taxes, provided that such information does not contain the amounts of taxes paid nor any other information

deermned by the Tax Commissioner 10 be confidential,

Bidder heraby certifies that this certificate is true and accurate in ail respects; and that if & contract is issued to Bidder
and if anything contained within this certificate changes during the term of the contract, Bidder will notify the Purchas-

ing Division in writing immaediately.

T 0000

Ns»

[T [

D.m

Bidder:_BRIDGEPORT EQUIPMENT ARD TOOL Signed; .
8/30/2016 SALES
Date: Title:

"Check any eombination of preference consideration(s) indicsled above, which you are entitied 1o receive.

RECEIVED TIME SEP. 13, 9:32AM PRINT TIME SEP. 13 1:05PM



SEP-13-2616 B9:26 From:PENNSEORO ATY 13046533276 Ta: 13845583570 Fase:39-51

STATE OF WEST VIRGINIA
Purchasing Division

PURCHASING AFFIDAVIT

MANDATE: Under W. va, Code §5A-3-10a, ho contract or renewal of any contract may be awarded by the state or any
of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vender or a relaled party
to the vendor of prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in

the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition ligted above does not apply where a vendor has contested any tax administered pursuant to
chapter sleven of the W. Va. Code, workers’ compensation prernium, permit fee or environmemal fee or assessmenl and
the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not
in default of any of the provisions of such plan or agreement.

DEFINITIONS:

“Debt” means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its
political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers’
compensation premium, penalty or other assessment presently delinquent or due and required to be pald 1o the state
or any of its political subdivisions, including any interest or additional penalties accrued thereon.

“Employer default” means having an outstanding balance or liability to the oid fund or to the uninsured employers'
fund or being in policy default, as defined in W. Va. Cods § 23-2¢-2, failure to maintain mandatory workers'
compensation coverage, or failure to fully meet its obligations as a workers’ compensation seff-insured employer. An
empioyer is not In employer default if it has entered into a repayment agreement with the Insurance Commissioner
and remains in compliance with the obligations under the repayment agreement.

“Related party” means a party, whether an individual, corporation, partnership, association, limited liability company
or any other form or business association or other entity whatsoever, related 10 any vendor by blood, marriage,
ownership or contract through which the party has a relationship of ownership or other interest with the vender so that
the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from
performance of a vendor contract with the party receiving an amount that mests or exceed five percent of the total

contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of
law for false swearing (W. Va. Code §61-5-3) that neither vendor nor any related party owe a debt as defined
above and that nefther vendor nor any related party are in employer default as defined above, unless the debt or
employer default is permitted under the exception above,

WITNESS THE FOLLOWING SIGNATURE:

Vendor's Name: BRIDGEPORT EQUIPMENT D TOQL
Authorized Signawre:%gé//ﬁ-ﬁdjndﬁ/ Date: _8/30/2016

State of IJJ

County of ?\\\'H‘)] e , to-wit;

Taken, subscribed, and sworn to before me thisj_e day of _Qm , 20 iLﬂ

gsion expires 5 ‘| D' | q : 20}}]
x‘r

W DFFICIAL SEAL H
g ok oty Public, 81 )
BNERE  Kawss o NOTARY PUBLie=] Lﬂ)u/)ﬁ S DﬁMé

100 Ray Ave
Pennsbore, Wy 28415

Purchasing Aftidavit (Revised p8/01/2015)
My commvssien expires March 10, 2019

RECEIVED TIME SEP.13.  9:32AM PRINT TIME SEP. 13 1:05PM



